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GUJARAT TECHNOLOGICAL UNIVERSITY
Diploma Engineering Semester —V Examination Dec’11- Jan’12

Subject code: 350904/2350904 Date: 28/12/2011
Subject Name: Digital Electronics & Digital Instrument

Time: 10.30 am — 01.00 pm Total Marks: 70
Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is considered Authentic.

Q.1 (a) State whether following statements are true or false. 07
1.0One BYTE = 1024 BITS
2.Memory is made up of Flip Flops.
3.STATIC RAM requires refreshing circuits.
4.Racing condition is found in JK Flip Flop.
5.Ex Or Gate can be used as an universal gate.
6. In Boolean algebra : A + AB = AB
7.In any Digital IC, Figure of Merit = speed * power.

(b)  Fill in the blanks: 07
1101, +011)2 = (- ). 2.(F) 16 S —
3.(F) 16 = (=m=eme )10 4.(7)s = (---m-m-- )10
5.(0)2-(1)2 = (- )2 6.(FF)i6t(1) 16 = (-------- )16

7.(1010),-(0111) ;= (- )

Q.2 (@) Convert following in to Hexa decimal. 07
1. (123.45)) 2. (111.111)g
(b)  Write short note on ERROR DETECTING CODES. 07
OR
(b) Explain Diode as a Switch. 07
Q.3
(@) Prove that NAND Gate is an Universal Gate. 07
(b)  What are the parameters for comparing the performance of ICs ? 07
OR
Q.3 (@)  Write Properties of Boolean Algebra. Prove any one . 07
(b)  Prove De’Morgan’s Laws with the help of Gates and certain 07
assumed data of your choice as an input.
Q4
(@) Compare STATIC RAM & DYANMIC RAM. 07
(b)  What are the different types of Shift Registers ? Explain them in 07
brief.
OR
Q.4 (a) Draw and explain 4 bit binary parallel substractor. 07

(b) Compare LCD and LED displays. 07



Q.5

Q.5

(a)
(b)

(a)
(b)

Explain Decade counter along with its circuit and its working.
Explain Successive Approximation Analog to Digital Converter
with figure and its working.

OR

Draw block diagram of Digital Multimeter and explain its working.

Draw Logic diagram for the Boolean Expression:

Y=ABCD + (AB) .(CD) + A + A + AB+BC
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Y=ABCD + (AB) .(CD) + A + A + AB+BC
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